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F- 413

M.A./M.Sc.(Second Semester)
EXAMINATION, May-June, 2022

GEOGRAPHY
Paper Sixth

(Economic and Natural Resource Management)

Time : Three Hours] [Maximum Marks:80

     

Note : Attempt all sections as directed.



(Section-A)

 

(Objective/Multiple Choice Questions)
(1 mark each)

    

Note : Attempt all questions.

 

Choose the correct answer-

P.T.O.
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1.      

(A)  

(B) 

(C) 

(D) 

Who gave the first definition of Economic Geography?

(A) R.E.Murphy

(B) Gotz

(C) Alexander

(D) Rudolf

2.         

(A)   

(B)   

(C)   

(D)   

Workers engaged in primary activities are called.

(A) Red collar worker

(B) Blue collar worker

(C) Pink collar worker

(D) White collar worker
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3.  

(A) 

(B) 

(C) 

(D) 

Which is a uniquities resource

(A) Diamond

(B) Gold

(C) Cryolite

(D) Petroleum

4.    

(A) 

(B) 

(C)  

(D) 

In which area happens maximum capillary action-

(A) Temperate area

(B) Tropical area

(C) Desert area

(D) All of the above
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5. The Limits to Growth" 


(A)   

(B)   

(C)  

(D)   

Which organization published the book-"The Limits to
Growth"-

(A) Club of America

(B) Club of China

(C) Club of Rome

(D) Club of Russia

6. 
 

(A) 

(B) 

(C) 

(D) 

Which of the following country is the largest producer of
pure cotton in the world-

(A) India

(B) USA

(C) China

(D) Russia
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7.     


(A) 

(B) 

(C) (A)(B)

(D)  

Which of the following comes under the Tertiary sector-

(A) Transport

(B) Communication

(C) Both (A) & (B)

(D) None of these

8.    

(A) 

(B) 

(C) 

(D) 

Tata Iron and Steel Company (TISCO) was established
in

(A) 1911

(B) 1907

(C) 1919

(D) 1913

P.T.O.
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9.     

(A)       

(B)   

(C)       

(D)  

Weber material index is defined as-

(A) Weight of raw material/ labour cost

(B) Transport cost/ labour cost

(C) Weight of finish good/ weight of raw material

(D) None of these

10. 

(A) 

(B) 

(C) 

(D)  

Which of the following is not a non renewable source of
energy-

(A) coal

(B) wood

(C) Petroleum

(D) Natural gas
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11.  

(A) 

(B)     

(C)    

(D)      

What is included in the appropriate definition of Economic
Geography?

(A) Inflationary

(B) Evaluation of the principles of economics

(C) Different types of economics

(D) Regional distribution pattern of economic factors

12. ‘

(A)   

(B)  

(C)  

(D)   

'Human knowledge is the greatest resource'. Whose
statement is this?

(A) J. O. M. Brock

(B) P.E. MacNall

(C) Perkins Marsh

(D) E.W. Zimmermmann

P.T.O.

[8]

F - 413

13. 

(A)    

(B)  

(C)  

(D)  

It is based on a simple model of the economy?

(A) On a set of decision- making elements

(B) On the transport network

(C) On the environment

(D) On International trade

14.  

(A)  

(B)    

(C)  

(D)  

Which of the following is an example of a free industry?

(A) Paper industry

(B) Manufacture of electronic components

(C) Cement industry

(D) Aluminum industry
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15.     

(A)  

(B)  

(C)  

(D)  

Which of the following does not affect the market?

(A) Primary work

(B) Secondary work

(C) Tertiary work

(D) Quaternary work

16.          


(A) 

(B) 

(C) 

(D) 

Which of the following crops is grown in most countries?

(A) Maize

(B) Millet

(C) Rice

(D) Wheat

P.T.O.
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17.    

(A)    

(B)    

(C)      

(D)   

Silicon Valley is famous-

(A) For computer chips

(B) For silicon production

(C) For headquater of coca cola

(D) For chemical

18.  

(A) 

(B)   

(C) 

(D) 

The organization formed to conduct international busi-
ness is called-

(A) SAARC

(B) WTO

(C) GATT

(D) SAPTA
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19. 

(A)  

(B) 

(C) 

(D)   

Accessibility as time and distance increase-

(A) Decrease

(B) Increase

(C) Remains the same

(D) First decreases then increases

20.      

(A) 

(B) 

(C)  

(D)  

Which country have maximum length of railway track in
the world?

(A) India

(B) Canada

(C) U.S.S.R.

(D) U.S.A.

P.T.O.
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

Section-B

  

(Very Short AnswerType Questions)

(2 marks each)

     

Note : Attempt all  answers in 2-3 sentences.

1. 

What is resources?

2.     

Explain the meaning of soil.

3.     

Write a short note on SAARC.

4.  

What is the meaning of Renewable Resource.

5.    

Describe OPEC.
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6. 

What is conservation of resource?

7.     

Write the characteristics of Indusrial Region?

8.     

Which are included in non-metallic minerals?



(Section-C)

  

(Short Answer Type Questions)

(3 marks each)

     

Note : Attempt all questions in about 75 words.

1.   

What is the difference between renewable and non-re-
newable resource.

2.       

Describe biotic and Abiotic resources.

P.T.O.
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3.   

What is the quaternary sector of activity?

4.   

What are the major centres of Iron and steel industry in
India?

5.      

Differentiate between Economic Geography and Econom-
ics.

6.      

Throw light on the importance of minerals.

7.       

Describe the European Free Trade Association (EFTA)

8. 
  

What do you mean by Oceanic Resources? Describe
the major oceanic resources.
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

(Section-D)

  

(Long Answer Type Questions)

(5 marks each)

      

Note : Attempt all question in about 150 words.

1.       

Describe the nature of Economic Geography.

OR/

      

Discuss the 'Limit to Growth Model'.

2.       

Explain the Weber theory of industrial location.

OR/

         


 Explain the indicators and importance of conservation &

P.T.O.
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management of resources.

3.       

Describe Iron ore producing areas in the world.

OR/

          


Minerals and power resources both are responsible for
the industrial development of a country." Explain with ex-
amples.

4.     

Write a brief note on resource management.

OR/

     

Explain the present trend in Globalization.


